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Second Year 

(i) ENGLISH (Paper – II) 

Time : 3 Hours   Maximum Marks: 70 

 

All sections are compulsory 

SECTION-A 

Q1) A) Read the following passage and answer the questions that follow: [5] 

   It would be a blessing if each human being were stricken blind and deaf for 
a few days at some time during his early adult life. Darkness would make 
him more appreciative of sight, silence would teach him the joys of sound. 

  a) What would be a blessing? 

  b) At what age should one be blind and deaf for a few days? 

  c) Why would it be a blessing? 

  d) From which lesson is this passage taken? 

  e) Who is the writer? 

 B) Read the passage and choose the right answer: [5] 

  Dolphins are regarded as the friendliest creatures in the sea. Man is                      
considered superior because we can kill them more easily than they can kill 
us, but this is not a satiofactory argument as we appear less superior when 
we destroy them. 

  a) Dolphins have 

    i) a reputation of being powerful 

    ii) less intelligence 

    iii) a reputation of being friendly 

    iv) communication skills 

 

        b) 



   

  

   

    i) Proves dolphins have linguistic skills 

    ii) Shows they are more adapted to their environment 

    iii) Does not mean we are superior to them 

    iv) None of the above 

  c) When we destroy them 

    i) We appear superior to them 

    ii) We become less superior 

    iii) We win the argument 

    iv) None of the above 

  d) ‘Satisfactory’ means 

    i) Thrilling 

    ii) Fuefilling 

    iii) Enjoying 

    iv) None of the above 

  e) Which word in the passage means ‘higher’. 

    i) Regarded 

    ii) Considered 

    iii) Appear 

    iv) Superior 

Q2) Answer any Two of the following in not more than 100 words each: [2 × 4 = 8] 

 a) How can one be a good writer according to L.A. Hill? 

 b) Narrate Gandhiji’s experiences in London. 

 c) What is the central theme of ‘The Drunkard’? 

 d) How does Keller describe the attributes of sight? 

Q3) Answer any ONE of the following in about 200 words: [7] 

 a) What is the central theme of ‘Three days to see’. 

 b) Justify the title, ‘Man’s Peril’. 

 c) What are the components of the knowledge society. 



   

  

   

SECTION-B 

Q4) a) Answer any one of the following in not more than 100 words: [4] 

   i) What is the central theme of the poem, ‘London’. 

   ii) Write an appreciation of the poem, ‘The Gift of India’. 

   iii) Bring out the theme of perseverance in, ‘Ulysses’. 

 b) Explain any one of the following: [4] 

   i) Something there is that doesn’t love a wall. 

   ii) He kindly stopped for me. 

   iii) But being too happy in thine happiness. 

 Q5) Answer any one of the following in about 200 words: [6] 

 a) Why couldn’t the poem stop for death? 

 b) Bring out the irony in ‘Mending Wall’. 

 c) Justify the title, ‘The Last Ride Together’.  

SECTION-C 

Q6) Answer any one of the following in about 200 words: [6] 

 a) Which moral dilemma do the characters in Subha face? 

  b) Why did the Reverend feel responsible for Scoresby? 

 c) Describe the love and hate relationship between husband and wife in ‘The 
Lottery Ticket’? 

SECTION-D 

Q7) Read the following passage and summarize it: [5] 

 There are different forms of environmental pollution. Air pollution is caused by 
the burning of coal and oil. A second type of pollution is noise pollution. It is the 
result of the noise of aircraft and heavy traffic. Loud music is also a cause of 
noise pollution, which has been seen to affect people’s hearing and give them       
severe headaches and high blood pressure. 

Q8) Write an essay on one of the following: [5] 



   

  

   

 a) Punctuality 

 b) Corruption 

 c) Cricket in India 

Q9) Answer any one of the following: [5] 

 a) Write a report on your holiday at a hill station. 

 b) Write a report on your College Annual Day Program. 

Q10) Use four of the following idioms and phrases in sentences of your own: [5] 

 a)  behind the scenes 

 b) take stock of 

 c) give ear to  

 d) set off 

 e) look down upon 

 f) put out 

  g) stand up 

  h) off and on  

Q11) Answer any one of the following: [5] 

 a) Write a dialogue between you and a salesman at a mall. 

 b) Write a letter to your friend inviting him for your birthday party. 

 c) Write a letter to the editor of a newspaper complaining about the menace of 
stray dogs.  

E E E 
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(ii) Telugu Paper - II 
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Q1)  D “Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆ>ÅË$ {ÐéÄ¶ý$…yìþ. (8) 

 a) AÆæÿ§æþÐ@þ¬ ¯ðþMìüP Móü™èþ¯@þ ç³sê…^èþË ^èþ…^èþËOÐðþ$¯@þ ™éÍÃ™ø 

  §æþ$ÆæÿVæü fÐ@þ…º$ Ð@þ¬¯@þYyæþÐ@þ— {§ø_ Mæüyæþ…Vðüyæþ$ ™èþ™èþ¢‚ý…º$™ø 

  ¨ÇVðüyæþ$ º…yìþ Mæü…yæþÏ ç³W¨¯Œþ {¿¶ýÑ$Æÿ¬… è̂þ$ Ð@þ$¯@þ…º$™øyæþ¯é 

  çßýÇçÜ¯@þ$ §ðþ…^ðþ çÜ™èþÅ çÜÐ@þ¬§æþ…_™èþ M>…^èþ¯@þ Ýû«§æþ Ò«̈ Mìü¯Œþ. 

 b) }ÌêÍ™èþÅÐ@þ¬ °™èþÅÔ¶ý$ ®̈Ä¶ý¬ Væü$×Z™óþÞMæü…º$ @̄þ$¯Œþ VæüÍY, Ä¶ý¬ 

  §óþÓË çÜ*¹Ç¢— §æþÍÆæÿ$a ™èþ…{yìþÄ¶ý$¯@þ$ ¯@þ¼®̄ Œþ f…{§æþ$—Oyðþ ™ø_ @̄þ¯Œþ 

  »ZË$¯Œþ V>Mæü, ¿¶ýÐé§æþ–Ô¶ý$…yìþ ™èþÆæÿ$—Oyðþ ç³#×ýÅ…º$Ë¯Œþ »êíÜ¯@þ¯Œþ 

  ÝëË“V>Ð@þ$ Q°¯Œþ f°… è̂þ$¯ðþ Mæü§é! gê™èþÅËµ ´ëÚë×ýÐ@þ¬ÌŒý !  

Q2) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄ¶ý$…yìþ.(4 × 2 = 8) 

A & ¿êVæü… 

 a) f¯@þMæü$ËMæü$¯Œþ VæüÆæÿ~Ä¶ý¬Væüâ¶ý çÜ§æþ*ÂçÙ×ýÐ@þ¬ÌŒý. 

 b) õ³ÆæÿË$Mæü…gñý…¨¯@þ Ä¶ý$sìýt M>…™èþË$_™èþ ÐéÅ´ëÆæÿÐ@þ¬ÌŒý ó̄þÆæÿ$¢Æóÿ. 

 c) ™óþ¯ðþç³NíÜ¯@þ Mæü†¢ «§é{¡ çÜ$Ææÿ$…yæþ$. 

 d) ¯é§æþ$ Ðóþ$¯@þ$¯@þ²̈  ^ðþ…™èþ Væü…Væü Ð@þ$yæþ$Væü$¯@þ²̈ .  

B & ¿êVæü… 



   

  

   

 a) QÈ§æþ$ Mæüsôýt çÙÆ>º$ ÌôýyøÄŒý$. 
 b) ´ëyìþ¯éyæþ Ð@þ$à…{«§æþ Ýû¿êVæüÅX†. 
 c) Ð@þÅMìü¢ çÜ…çœ$Ð@þ¬Ë…§æþ$ GÄ¶ý$Å¨ {ç³£æþÐ@þ$ Væü×ýÅÐðþ¬ ^ðþç³µÐ@þÐ@þ*Ã. 
 d) ¯éÐ@þ*r ¿êÑ™èþÆ>ËMæü$ ÐéÆæÿçÜ™èþÓ…V> çÜ…“MæüÑ$çÜ$¢…¨.  

Q3) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. (2 × 7 = 14) 

A & ¿êVæü… 

 a) }Mæü–çÙ$~yæþ$ çÜ™èþÅ¿êÐ@þ$¯@þ$ A¯@þ$¯@þÆÿ¬…_ @̄þ Ñ«§æþÐ@þ¬. 
 b) ïÜ™é ç³Ç™éÅVæü Ð@þ–™é¢…™èþÐ@þ¬¯@þ$ {ÐéÄ¶ý$…yìþ. 

B & ¿êVæü… 

 a) ‘{ç³†fq’ MæüÑ™é Q…yìþMæüÌZ }} ÐðþË$Ð@þÇ…_¯@þ A¿¶ý$Å§æþÄ¶ý$¿êÐéË$. 
 b) Ð@þ$à…{«§ø§æþÄ¶ý*°² §éÔ¶ýÆæÿ«̈  _{†…_ @̄þ Ñ«§æþÐ@þ¬.  

Q4) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

A & ¿êVæü… 

 a) Ð@þ*™èþ–¿êÚëÀÐ@þ*¯@þÐ@þ¬ ò³Ææÿ$Væü$rMæü$ ´ë¯@þ$Væü…sìý ÐéÇ çÜ* è̂þ¯@þË$. 
 b) “Æ>Ä¶ý$Ë M>Ë… ¯ésìý ïÜˆ ¿ZVæüÅ Ð@þçÜ$¢Ð@þ#” & °Ææÿ*í³…ç³#Ð@þ¬. 

B & ¿êVæü… 

 a) }Æ>Ð@þ¬Ë$ & ÒÆæÿÄ¶ý$ÅË Ð@þ$«§æþÅ ÝëW¯@þ ºçßý$M>Ë §æþÆæÿØ¯@þ…. 
 b) Ð@þ$¯@þ$^èþÇ{™èþ  Ð@þ$à{ç³º…«§æþ {́ ëÔ¶ýççÜ¢ ÅÐ@þ¬ {ÐéÄ¶ý$…yìþ.  

Q5) “M ìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

 a) ç³#Ææÿ$Úù™èþ¢Ð@þ$Æ>Ð@þ# 

 b) ºçÜÐ@þÆ>k 

 c) Í…VæüÆ>k 

 d) M>ã…¨ 

       



   

  

   

Q6)  “M ìü…¨ Ðé°ÌZ JMæü §é°° Væü*Ça ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. (6) 

 a) Ðé™éÐ@þÆæÿ×ý M>Ë$çÙÅ…. 

 b) AÑ±† °Ææÿ*ÃË @̄þ…. 

 c) ç³{†MæüË$. 

 d) ¯@þ_ā @þ MæüÑ. 

Q7) a) i)  “Mìü…¨ ç³§æþÅ´ë§é°Mìü Væü×ýÑ¿¶ýf¯@þ ó̂þíÜ bèþ…§æþçÜ$Þ̄ @þ$ Væü$Ç¢…_ Ä¶ý$†° õ³ÆöP¯@þ…yìþ.(5) 

    ‘™èþÎÏÄ¶ý$° »ñýr$t Ý÷ÇW «§æþÆæÿOò³— ºyìþÄ¶ý$¯Œþ’ 

Ìôý§é 

  ii)  ^èþ…ç³MæüÐ@þ*Ë ç³§æþÅË„æü×ýÐ@þ¬¯@þ$ Ýù§éçßýÆæÿ×ýÐ@þ¬V> ÑÐ@þÇ…ç³#Ð@þ¬.  
 b) i)  “Mìü…¨ çç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ Ë„æü×ý çÜÐ@þ$¯@þÓÄ¶ý$… ^óþÄ¶ý$…yìþ. (5) 

    “Æ>f¼…»êçÜÅ Ææÿ$MìüÃ×ìý ™óþfÇÌñýÏ 

    Ýë¯@þ— ºsìýt̄ @þ Ð@þ$MæüÆ>…Mæü$ Ô¶ýçÜˆÐ@þ$¯@þVæü ” 

Ìôý§é 

  ii)  Ææÿ*ç³M>Ë…M>Ææÿ Ë„æü×ê°² Ýù§éçßýÆæÿ×ý…V> ÑÐ@þÇ…^èþ…yìþ.  
 

E E E 
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I)  Answer any two questions. [2 × 10 = 20] 

  Û¶mo: CÎma§ {bIV & 

1) hf©dY©Zñ¶ nmÌmUm§ M[aÌ{MÌUMmVwar§ {deX¶V & 

2) Or‘yVdmhZ: {H$‘Wª ‘b¶nd©V§ JV:? VÌ H$m‘ní¶V²? 

3) D$ê$^“ñ¶ n[aM¶mË‘H§$ {Z~ÝY‘oH§ {bIV & 

4) lrH¥$îU gwXmåZmo ‘¡Ìr H$W‘mXe©‘¡Ìr {Zê$n¶V & 
 

II) eVmZÝXoZmoº$m§ {dídm{‘Ìñ¶ ~«÷{f©Ëd àm{áH$Wm§ {deX¶V? [10] 
AWdm 

  AmMm¶© lram‘MÝÐH$do: n[aM¶mË‘H§$ {Z~ÝY‘oH§$ {bIV & 
 

III) Explain any four of the following with reference to context. [2 × 3 = 6] 

  MËdm[a ggÝX ª̂ ì¶m»¶mV & 

1) {ZXm}f Xe©Zm {h H$Ý¶H$m ^dpÝV & 

2) ñd§ Xoh‘Ym}naV§ dhm{‘ & 
3) ³d gy¶©: ³dM IÚmoV: 

4) gd©ñ¶mä¶mJVmo Jwê$: & 

5) ñd§ Xoh‘Ym}naV§ dhm{‘ & 

6) Zañ¶ ^m½¶aoIm An[adV©Zr¶m & 
7) {dZm{^foH§$ amOm Ëd§ {dàmoº}$d©MZ}‘©‘ & 

8) qH$ H$V©ì¶Vm‘yT>m: Vo J«m‘rUm: & 
 

IV) Write a brief note on any two [2 × 4 = 8] 

  Û¶mo: bKwQ>rH$m§ {bIV & 
1) lrhf©: 

2) nÄMVÝÌ‘²        

3) ^ma{d 

4) e‘amMm¶©: 

V) Define and illustrate any two Alankaras. [2 × 3 = 6] 



   

  

   

  Û¶mo: Ab§H$ma¶mo: bjUmoXmhaUo {bIV 

1) Cn‘m 

2) AWm©ÝVaÝ¶mg: 

3) C„oI: 

4) {damoYm^mg       

 

VI) Write the forms of any four of the following sabdas. [4 × 2 = 8] 

  MVwUmª {Z{X©îQ>{d^{º$fw ê$nm{U {bIV & 
1) ‘ê$V² - V¥Vr¶m 
2) amOZ² - fð>r 
3) {dÛg² - àW‘m 
4) Añ‘X² - gá‘r 
5) dmH²$ - MVw{W© 
6) VX² (nw§) - àW‘m 
7) nMV² - gá‘r 

8) ‘Zg² - nÄM‘r 
 
VII) Write the forms of any four of the following adding the given terminations. [4 × 1 = 4] 

1) ñ‘¥ - ³VdV²  
2) nR²> - Vw‘wZ² 
3) dM² - emZM² 
4) km§ - eV¥ 
5) {O - ë¶n² 
6) J‘² - Vw‘wZ² 
7) Zr - ³VdV² 
8) Xm - emZM² 
 

VIII) Translate any four sentences into Telugu or English. [4 × 2 = 8] 

  MVwUmª AmÝY«̂ mfm¶m§ dm Am§½b^mfm¶m§ {bIV & 
1) g§ñH¥$V§ ^maVr¶ ^mfmUm§ OZZr & 
2) H$m{bXmg: A{VàmMrZ: H${d: & 
3) Y‘m} aj{V a{jV: & 
4) OZZr OÝ‘ ŷ{‘íM ñdJ©X{n Jar¶gr & 
5) {dÚm XXm{V {dZ¶‘² & 
6) {dÛmZ² gd©Ì nyÁ¶Vo & 
7) AmMm¶© - ZmJmO©wZ: ~m¡ÜX‘Vo ‘hmnpÊS>V: & 
8) JVg§dËgao ^maVXoe d¡km{ZH$m: A§JmaH$J«h§ à{V EH§$ AÝV[aj¶mZ§ àMmo{XVdÝV:&  
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Q1)  {ZåZ{b{IV nÚm§e H$mo g àg§J ì¶m»¶m H$s{OE & [18] 
a) i) {Z§XH$$ {Z¶ao am{I¶o, Am§JZ Hw$Q>r N>dm¶ &  

 {~Z nmZr Am¡a gm~yZ, ‘Z {Z‘©b H$a¡ gŵ m¶ && 
AWdm 

ii) gya g‘a H$aZr H$aqX, H${XZ OmZmd{X Amn &  
 {d‘m‘Z [anw nmB aZ, H$mMa H$aqX àbmf& 
 

b) i) a{h‘Z Xo{I ~S>oZ H$mo H$hmH$a¡ Vadm[a 
AWdm 

 ii) gVg¡¶m Ho$ Xmohao, Á¶mo§ Zm{dH$ Ho$ Vra & 
  XoIZ ‘| N>moQ>o bJ¡, Kmd H$aV Jå^ra && 

 
c) i) ¶h gM h¢ Vmo A~ bm¡Q> Mbmo Vw‘ Ka H$mo& 

   Mm¢Ho$ g~ gwZH$a AQ>b H¡$Ho$¶r-ñda H$mo && 
AWdm 

   ii)  ‘wQ²>R>r ^a XmZo H$mo, ŷI {‘Q>mZo H$mo,  
    ‘w±h ’$Q>r nwamZr Pmobr H$mo ’¡$bmVm & 
   gmW Xmo ~ƒo ^r h¢ gXm hmW ’¡$bmE & 
   
Q2) {H$gr EH$ H${dVm H$m gmam§e {b{IE & [10] 

a) H¡$Ho$¶r H$m níMmVmn & 
b) {^jwH$$ & 
c) h‘mam ß¶mam ^maV df© & 
 

 

Q3) {H$gr EH$ H${d H$m n[aM¶ Xr{OE & [10] 
a) {~hmar bmb & 
b) gmohZbmb {ÛdoXr & 
c) ahr‘ & 

 



   

  

   

 

Q4) {H$gr EH$ {df¶ na {Z~§Y {b{IE & [15] 
a) dV©‘mZ {ejm àUmbr & 
b) {dÚmWr© Am¡a AZwemgZ & 
c) ~oH$mar g‘ñ¶m & 
d) {dkmZ go bm^ Am¡a hm{Z & 
e) nwñVH$mb¶ & 
  

Q5) {H$gr EH$ gm{hË¶ {df¶ na {Z~§Y {b{IE & [15] 
a) H$mb - {d^mOZ & 
b) {ZJ©wU - ^{º$‘mJ© &    
c) H¥$îU - ^{º$emIm & 
d) am‘^[º$emIm & 
    

 
Q6) {ZåZ{b{IV JÚ H$m {hÝXr ‘| AZwdmX H$s{OE & [12] 

The elephant is a largest and strongest animal. It is a strong looking animal with its 
thick legs. Huge sides and back, large hanging ears, small tail little eyes, long white 
tusks and above all. Its long nose called the trunk. Elephants are found in India and in 
Africa. The Elephants is a very intelligent animal. 

  
 

��� 
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                                                       SECTION-A                                       (2 × 13 = 26) 

Answer any two questions 

 

Q1) What are the various significant discovories during 20th century in the field of 

science. 

 20 Ð@þ Ô¶ý™éºª…ÌZ OòÜ¯ŒþÞ Ææÿ…Væü…ÌZ ÑÑ«§æþ {ç³Ð@þ¬QÅ BÑÆ>ÂÐ@þÐ@þ¬Ë¯@þ$ Væü*Ça ÑÐ@þÇ…^èþ…yìþ.  
 

Q2) Explain the role vitamins in our daily life. 

 °™èþÅ iÑ™èþ…ÌZ ÑrÑ$¯@þÏ ´ë{™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
 

Q3) Write the importance of the alternative energy sources. 

 {ç³™éÅÐ@þ*²Ä¶ý$ Ô¶ýMìü¢ Ð@þ¯@þÆæÿ$Ë {́ ëÐ@þ¬QÅ™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q4) How Science and Technology influences the society. 

 çÜÐ@þ*gê°² OòÜ¯ŒþÞ Ð@þ$ÇÄ¶ý¬ Ýë…Móü†Mæü Ææÿ…V>Ë$ H Ñ«§æþ…V> {ç³¿êÑ™èþ… ^óþÝë¢Æÿ¬. 

 
                                                       SECTION-B                                       (3 × 4 = 12) 

Answer any three questions 

   

Q5) a) Radar 

  Æ>yéÆŠÿ 

 

 



   

  

   

 b) Polymerization. 

  ´ëÍÐðþ$OÆðÿgôýçÙ¯Œþ. 

 c) Social Justice. 

  ÝëÐ@þ*hMæü ¯éÅÄ¶ý$….  

 d) Atomic power. 

  A×ý$Ô¶ýMìü¢. 

 e) Types of communication. 

  çÜ…Ð@þçßý×ý Ñ«§é¯éË$. 

 f) Biogas. 

  ºÄñý*V>Å‹Ü.  

                                                       SECTION-C                                       (3 × 4 = 12) 

Answer all questions 

 
Q6) Fill in the blanks: 

 a) Scurvy caused by __________ 

  çÜÅÈÓ §óþ° Ð@þË¯@þ Ð@þ^èþ$ā @þ$. __________ 

 b) Radio was inverted by __________ 

  ÆóÿyìþÄñý* Mæü¯@þ$Vö°¯@þ ÐéÆæÿ$ __________ 

 c) Computer inverted by __________ 

  Mæü…ç³NÅrÆŠÿ Mæü¯@þ$Vö¯@þ²¨ GÐ@þÆæÿ$ __________ 

 d) Silver revolution  __________ 

  íÜËÓÆŠÿ Ñç³ÏÐ@þÐ@þ¬ __________ 

Q7) Choose the correct – word. 

 çÜÇOÄñý$¯@þ ç³§æþÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 



   

  

   

 a) Carbohydrates formula 

  i) C4 H10 O6. 

  ii) C6 H12 O6. 

  iii) CH2 Cl6. 

  iv) C4 H22 O7. 

  í³…yìþ ç³§éÆ>®Ë ¸ëÆæÿ$ÃÌê 

  i) C4 H10 O6. 

  ii) C6 H12 O6.  

  iii)  CH2 Cl6. 

  iii)  C4 H22 O7. 

 b) JamesWatt invented 

  i) Radar 

  ii) Radio 

  iii) Television 

  iv) Steam Engine 

  gôýÐŒþ$ÞÐésŒý Mæü¯@þ$Vö°¯@þ ç³ÇMæüÆæÿÐ@þ¬. 

  i) Æ>yéÆŠÿ   

  ii) ÆóÿyìþÄñý* 

  iii) sñýÍÑf Œ̄þ 

  iv) BÑÇ Ä¶ý$…{™èþÐ@þ¬ 

c) Chemical formula of chloroformes 

  i) CO 

  ii) CO2 



   

  

   

  iii) NH3  

  iv) CHCl3 

  MøÏÆø¸ëÆæÿ… Äñý¬MæüP ÆæÿÝëÄ¶ý$¯@þ ¸ëÆæÿ$ÃÌê 
  i) CO 

  ii) CO2. 

  iii) NH3  

  iv) CHCl3 

Q8) Match the following: 

 a) Nylon 6/6  Egypt 

 b) Insulin  Virus 

 c) HIV   Harmone 

 d) Pyramids  Synthetic fibre 

  a) Ō ðþÌê¯Œþ  6/6  Dh‹³t 

 b) C¯@þ$ÞÍ¯Œþ  OÐðþÆæÿ‹Ü 

 c) HIV   àÆøÃ Œ̄þ 

 d) í³ÆæÿÑ$yŠþ  Mæü–{†Ð@þ$ ´ùVæü$Ë$ 

 

E E E 
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B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M. DEGREE 

EXAMINATION, DEC.-2016 

Second Year 

ENVIRONMENTAL STUDIES 

Time : 3 Hours   Maximum Marks: 100 

                                                       SECTION-A                                       (4 × 10 = 40) 

Answer any four of the following 

 

Q1) Write the multidiscriplinary nature of the environmental studies. 

 ç³Æ>ÅÐ@þÆæÿ×ý A«§æþÅÄ¶ý$¯@þ… Äñý¬MæüP ºçßý$Ð@þ¬Q çÜÓ¿êÐ@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

Q2) What are the various factors of ecosystem. Explain with suitable examples. 

 BÐ@þÆæÿ×ý Ð@þÅÐ@þçÜ¦ Äñý¬MæüP A¯@þ$çœ$rM>Ë¯@þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ…^èþ…yìþ.  
Q3) Explain the following 

 “Mìü…¨ Ðé°° ÑÐ@þÇ… è̂þ…yìþ. 

 a) Food chain 

  çœ#yŠþ ^ðþÆÿ¬¯Œþ 

 b) Energy flow 

 G¯@þÈj ´ùÏ  

Q4) What are the various ecological pyramids. 

 ÑÑ«§æþ BàÆæÿ í³ÆæÿÑ$yŠþË¯@þ$ ÑÐ@þÇ…^èþ…yìþ.  
   

Q5) Define soil & explain various conservative practices. 

 Ð@þ$–†¢Mæü¯@þ$ ÑÐ@þÇ…_, Ð@þ$–†¢Mæü çÜ…Ææÿ„æü×ý Ñ«§é¯éË @̄þ$ ÑÐ@þÇ…^èþ…yìþ. 
 

Q6) Explain ozone depletion. 

 KgZ Œ̄þ ´÷Ææÿ „îü×ý™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 



   

  

   

       

Q7) Explain sources, effects and control measures of noise pollution. 

 Ô¶ýºª M>Ë$çÙÅ M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ð@þ$ÇÄ¶ý¬ °Ä¶ý$…{™èþ×ý ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q8) Explain the urban problems related to energy. 

 ç³rt×êËÌZ Ñ§æþ$Å™Œþ çÜÐ@þ$çÜÅË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

                                                       SECTION-B                                       (3 × 20 = 60) 

Answer any three of the following 

 

Q9) Explain the conservation and management of Natural Resources. 

 çÜçßýf Ð@þ¯@þÆæÿ$Ë çÜ…Ææÿ„æü×ý Ð@þ$ÇÄ¶ý¬ °ÆæÿÓçßý×ý @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 

Q10) Write the sources effects and control measures of water pollution. 

 fË M>Ë$çÙÅ M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ð@þ$ÇÄ¶ý¬ °Ä¶ý$…{™èþ×ý ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ.  

Q11) Explain in detail about levels of bio-diversity and hot spots.  

 àsŒýÝëµsŒýË¯@þ$ Ð@þ$ÇÄ¶ý¬ iÐ@þ OÐðþÑ§æþÅ Ýë¦Æÿ¬Ë¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

Q12) Explain the following: 

 a) CZM 

 b) Urbanization 

 c) IUCM 

 d) WWF 

 “Mìü…¨ Ðé°° ÑÐ@þÇ…^èþ…yìþ. 

 a) CZM 

 b) ç³rt×îýMæüÆæÿ×ýÐ@þ¬ 

 c) IUCM 

 d) WWF 

 

      



   

  

   

Q13) Explain thermal and radio active pollutions. 

 ÆóÿyìþÄñý*««§éÇÃMæü Ð@þ$ÇÄ¶ý¬ «£ðþÆæÿÃÌŒý M>Ë$ÚëÅË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 
   

Q14) Write effects of mining on environment & role of individual in conyservation of 

mines. 

 Væü¯@þ$Ë {™èþÐ@þÓMæü… Ð@þË¯@þ ç³Æ>ÅÐ@þÆæÿ×ý… Oò³ {ç³¿êÐé°² ÑÐ@þÇçÜ*¢, Q°f çÜ…Ææÿ„æü×ýÌZ Ð@þÅMìü¢ Äñý¬MæüP 
´ë{™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

 

E E E 
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B.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

BANKING AND FINANCIAL SYSTEMS 

Time : 3 Hours   Maximum Marks: 70 

           SECTION - A               (4 × 3 = 12) 

Answer any Four of the following 

 

 
Q1) Investment Banking. 
 ò³r$tºyìþ »êÅ…Mìü…VŠü 
 
Q2) Unorganised sectors Banking. 
 Ð@þÅÐ@þïÜ¦Mæü–™èþ… M>° »êÅ…Mìü…VŠü Ææÿ…VæüÐ@þ¬. 
 
Q3) Online Banking. 
 B¯Œþ OÌñý¯Œþ »êÅ…Mìü…VŠü. 

 
Q4) Co-Operative Banking. 
 çÜçßýM>Ææÿ »êÅ…Mæü$Ë$. 

 
Q5) Micro credit. 
 çÜ*Mæü‡ç³Ææÿç³† 
 
Q6) Endorsement. 
 G…yéÆŠÿÞÐðþ$…sŒý (ï³wÌôýQ¯@þÐ@þ¬) 

                                           
Q7) Pledge. 
 ™éMæür$t 
 

Q8) Life insurance. 
 iÑ™èþ ½Ð@þ* 
 
 

                                      SECTION - B               (2 × 8 = 16) 

Answer any Two of the following 



   

  

   

 
Q9) Advantages of Branch Banking. 
 {»ê…_ »êÅ…Mìü…VŠü Ð@þËç̄ þÌê¿êË$ 
 
Q10) Electronic Banking. 
 GË“M>t°MŠü »êÅ…Mìü…VŠü 
 
Q11) Reforms of the Indian money market. 
 ¿êÆæÿ¡Ä¶ý$ {§æþÐ@þÅ Ð@þ*ÆðÿPsŒý çÜ…çÜPÆæÿ×ýË$. 
 
Q12)  Types of crossing of cheques. 
 ^ðþMæü$PË “M>íÜ…VŠü ÆæÿM>Ë$. 

 
                                      SECTION - C               (3 × 14 = 42) 

Answer any Three of the following 
 
Q13)  Briefly explain the innovations in banking?  
 »êÅ…Mìü…VŠü Ææÿ…Væü…ÌZ @̄þÒMæüÆæÿ×ýË$ ÑÐ@þÇ…^èþ…yìþ. 
 
Q14)  Advantages of Co-operative Banking institutions. 
 çÜçßýM>Ææÿ »êÅ…Mæü$Ë Ð@þËç̄ þ {ç³Äñý*f¯éË$ ÑÐ@þÇ…^èþ…yìþ. 
 
Q15)  Explain the financial services of Merchant Banking? 
 Ð@þ$Æðÿa…sŒý »êÅ…Mìü…VŠü Ñ™èþ¢õÜÐ@þË$ ÑÐ@þÇ…^èþ…yìþ. 
 

Q16)  Definition and relationship between banker and customer? 
 °ÆæÿÓ^èþ¯@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ »êÅ…MæüÆæÿ$, MæüçÜtÐ@þ$Ææÿ$ çÜ…º…«§éË$ {ÐéÄ¶ý$…yìþ. 
 
Q17)  State the statutory protection to the collecting Banker? While collection of che-

ques? 
 ^ðþMæü$PË Ð@þçÜ*Ë$Mæü$ çÜ…º…«̈ …_, Ð@þçÜ*Ë$ »êÅ…MæüÆæÿ$Mæü$ VæüË Ô>çÜ¯é™èþÃMæü Ææÿ„æü×ý 

ÑÐ@þÇ…^èþ…yìþ. 
 
Q18)  What is life insurance? Write about the life insurance policies? 
 iÑ™èþ ½Ð@þ* A @̄þV>¯óþÑ$? iÑ™èþ½Ð@þ* ´ëËïÜË Væü*Ça {ÐéÄ¶ý$…yìþ. 
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B.Com. DEGREE EXAMINATION, DEC. – 2016 

Second Year 

FINANCIAL ACCOUNTING - II 

Time : 03 Hours                                                           Maximum Marks :70 

 

SECTION – A 

          Answer any Four of the following (4 × 3 = 12) 

 

Q1) Features of Hire Purchase system. 

 A§ðþª & Mö @̄þ$VøË$ ç³§æþ®† Ë„æü×êË$. 

 

Q2)  Difference between Single Entry and Double Entry. 

 J…sìý ç³§æþ$ª Ñ«§é¯@þ… & f…r ç³§æþ$ª Ñ«§é¯@þ… Ð@þ$«§æþÅ VæüË ™óþyéË$. 

 

Q3)  Features of Receipts and Payment a/c. 

 Ð@þçÜ*â¶ý$å & ^ðþÍÏ…ç³#Ë$ Rê™é Ë„æü×êË$. 

 

Q4) Legacy and Donations. 

 ÐéÆæÿçÜ™éÓË$ Ð@þ$ÇÄ¶ý¬ ÑÆ>âêË$. 
 

Q5) Partnership Deed. 

 ¿êVæüÝëÓÐ@þ$Å Jç³µ…§æþ…. 
 

Q6) Profit and loss appropriation a/c. 

 Ìê¿¶ý @̄þÚëtË Ñ°Äñý*W™èþ Rê™é. 
 

Q7) Objectives of Branch accounts. 

 {»ê…_ Rê™éË «§óþÅÄ¶ý*Ë$. 
 



   

  

   

Q8) Authorised capital. 

 A«©Mæü–™èþ Ð@þÊË«§æþ¯@þ…. 

SECTION – B 

          Answer any Two of the following (2 × 8 = 16) 

 

Q9) Sundaram company purchased a vehicle from Tata company on 1-01-2012. The 

cost price being Rs. 1,12,000. The purchase is on Hire purchase basis. Payment 

made on delivery was Rs. 30,000, and thereafter Rs. 30,000 being paid annually 

for 3 years. Interest was charged at 5%. Depreciation was written off at the rate 
of 10% per annum on the straight line method. Prepare Tata Company a/c and 

Vehicle a/c in the Books of Sundaram company. 
 1&01&2012 ™óþ¨¯@þ çÜ$…§æþÆæÿÐŒþ$ Mæü…ò³± JMæü Ðéçßý¯é°² sêsê Mæü…ò³± ¯@þ$…yìþ A§ðþª 

Mö¯@þ$VøË$ ç³§æþ®†ÌZ Mö¯@þ$VøË$ ^óþíÜ @̄þ¨. Ðéçßý¯@þÐ@þ¬ AçÜË$ «§æþÆæÿ Ææÿ*. 1,12,000. 
A“WÐðþ$…r$Oò³ çÜ…™èþMæüÐ@þ¬ ^óþíÜ¯@þ ™óþ©¯@þ ^ðþÍÏ…_¯@þ Ððþ¬™èþ¢Ð@þ¬ Ææÿ*. 30,000. ™èþÆæÿ$Ðé™èþ 
Ð@þÊyæþ$ çÜÐ@þ*¯@þ ÐéÆÿ¬§éËÌZ, ÐéÆÿ¬§é JMìüP…sìýMìü Ææÿ*. 30,000 ^öç³š¯@þ ð̂þÍÏ…^èþÐ@þËíÜ 
E¯@þ²̈ . Ð@þyîþz çÜ…Ð@þ™èþÞÆ>°Mìü 5% ^öç³š¯@þ ÌñýMæüPMæüyæþ™éÆæÿ$. íÜ¦Ææÿ ÐéÆÿ¬§éË$ ç³§æþ®†ÌZ 
çÜ…Ð@þ™èþÞÆ>°Mìü 10% ^öç³š¯@þ ™èþÆæÿ$Væü$§æþË ÌñýMæüP MæürtÐ@þÌñý¯@þ$. çÜ$…§æþÆæÿÐŒþ$ Mæü…ò³± ç³#çÜ¢M>ËÌZ 
Ðéçßý¯@þ… Rê™é Ð@þ$ÇÄ¶ý¬ sêsê Mæü…ò³± Rê™é ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 

Q10)Krishna keeps his books on single entry system. You are required to pre-
pare 

a) Statement of affairs and 
b) Statement of profit and loss for the year ending 31-12-2015. 

 Particulars 31-12-2014 31-12-2015 

   Rs. Rs. 

   Plant and Machinery 10,000  8,000 

   Furniture 6,000  5,000 

   Closing Stock 12,000  19,000 

   Investments 16,000  24,000 

   Cash 7,000  5,000 

   Mortgage loan 4,000  4,800 

   Creditors 5,000  6,200  

 Additional information: 

1) Additional capital introduced Rs. 12,500. 
2) Drawings during the year Rs. 3,000. 



   

  

   

 

Mæü–çÙ~ A¯óþ Ð@þÆæÿ¢Mæü$yæþ$ J…sìý ç³§æþ$ª Ñ«§é¯@þ… A¯@þ$çÜÇ…^èþ$^èþ$¯é²Ææÿ$. ¨Væü$Ð@þ BÇ®Mæü çÜÐ@þ*^éÆæÿ… 
B«§éÆæÿ…V> 31&12&2015 ™óþ©™ø A…™èþÐ@þ$Äôý$Å çÜ…||Mìü Ìê¿¶ý ¯@þÚëtË °Ðóþ¨Mæü, B ™óþ©ËÌZ 
E¯@þ² Ð@þÅÐ@þàÆæÿ °Ðóþ¨MæüË$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 
    ÑÐ@þÆ>Ë$ 31&12&14 31&12&15 
     Ææÿ*. Ææÿ*. 
   ´ëÏ…r$ & Ä¶ý$…{™éË$ 10,000 8,000 
   çœÈ²̂ èþÆæÿ$ 6,000 5,000 
   Ð@þ¬W…ç³# çÜÆæÿ$Mæü$  12,000 19,000 
   ò³r$tºyæþ$Ë$ 16,000 24,000 
   ¯@þVæü§æþ$ 7,000 5,000 
   ™èþ¯@þRê Ò$§æþ Aç³š 4,000 4,800 
   º¬×ý§é™èþË$ 5,000 6,200 
 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ…:  

1) A§æþ¯@þç³# Ð@þÊË«§æþ¯@þ… Ææÿ*. 12,500. 
2) Ý÷…™èþÐéyæþM>Ë$ Ææÿ*. 3,000. 

      
Q11)From the following prepare receipts and payments a/c for the year ending 31-12-

2015. 
  1-01-2015  Rs.  
  Cash balance 7,500 
  Bank a/c balance 14,000 
  Receipts: 
   Subscriptions 10,000 
   Donations 16,000 
   Rent  4,000 
   Sale of news papers 2,000 
   Fees collected 6,500 
  Payments: 
   News papers subscription 2,200 
   Taxes 6,400 
   Travelling 3,700 
   Periodicals 2,500 
   Entertainments 7,300 
   Salary paid 11,000 
   Tournment Expenses 8,900 
 
 



   

  

   

 ¨Væü$Ð@þ Æÿ¬_ā @þ Ð@þÅÐ@þàÆ>Ë ¯@þ$…yìþ Ð@þçÜ*â¶ý$å, ^ðþÍÏ…ç³#Ë$ Rê™é 31&12&2015 
A…™èþÐ@þ$Äôý$Å çÜ…|| Mìü ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

  1&01&2015 Ææÿ*. 
  ¯@þVæü§æþ$ °ËÓ  7,500 
  »êÅ…Mæü$ Rê™é °ËÓ 14,000 
  Ð@þçÜ*â¶ý$å: 
   ^èþ…§éË$ 10,000 
   ÑÆ>âêË$ 16,000  
   A§ðþª  4,000 
   õ³ç³Ææÿ$Ï AÐ@þ$ÃV> Ð@þ_ā @þ¨ 2,000 
   ïœk Ð@þçÜ*Ë$ 6,500 
  ^ðþÍÏ…ç³#Ë$: 
   ÐéÆ>¢ç³{†MæüË ^èþ…§é 2,200 
   ç³¯@þ$²Ë$ 6,400 
   {ç³Ä¶ý*×ý QÆæÿ$aË$ 3,700 
   Ð@þ*çÜ ç³{†MæüË$ 2,500 
   Ñ¯ø§éËOò³ QÆæÿ$a 7,300 
   i™éË$ 11,000 
   BrËOò³ QÆæÿ$a 8,900 
  

Q12)Reliance has a branch at Vijayawada. Goods are supplied to the branch at 

cost. The expenses of the branch are paid from Reliance, and branch keeps 

a sales and debtors Journal only. From the following information, prepare 

Branch a/c in the books of Head office. 

   Opening stock 1-01-2015 48,000 

   Closing stock 31-12-2015 42,000 

   Cash sales 86,000 

   Credit sales 37,000 

   Collection from the customers 30,000 

   Customers a/c balance on 31-12-15 4,000 

   Goods received from H.O. 35,000 

   Expenses paid by the H.O. 9,000 



   

  

   

  

 ÇËÄ¶ý$¯ŒþÞ çÜ…çÜ¦Mæü$ ÑfÄ¶ý$ÐéyæþÌZ {»ê…_ MæüË§æþ$. AçÜË$ «§æþÆæÿMæü$ ™èþ¯@þ {»ê…_Mìü çÜÆæÿ$Mæü$ 

çÜÆæÿçœÆ> ^óþçÜ$¢…¨. {»ê…_Mìü AÐ@þçÜÆæÿOÐðþ$¯@þ QÆæÿ$aË$ ÇËÄñý$¯ŒþÞ çÜ…çÜ¦ ^ðþÍÏçÜ$¢…¨. {»ê…_ 

AÐ@þ$ÃM>Ë ç³#çÜ¢MæüÐ@þ¬, º¬×ý“VæüçÜ$¢Ë Rê™éË¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþçÜ$¢…¨. ¨Væü$Ð@þ Æÿ¬_ā @þ ÑÐ@þÆ>Ë 

¯@þ$…yìþ òßýyŠþ BïœçÜ$ ç³#çÜ¢M>ËÌZ {»ê…_ Rê™é @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

   1&01&2015 {́ ëÆæÿ…¿¶ý çÜÆæÿ$Mæü$ °ËÓ 48,000 

   31&12&2015 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ °ËÓ 42,000 

   ¯@þVæü§æþ$Oò³ AÐ@þ$ÃM>Ë$ 86,000 

   AÆæÿ$Ð@þ#Oò³ AÐ@þ$ÃM>Ë$ 37,000 

   Rê™é§éÆæÿ$Ë¯@þ$…yìþ Ð@þçÜ*â¶ý$å 30,000 

   31&12&15 Rê™é§éÆæÿ$Ë Rê™é °ËÓ 4,000  

   ýòßýyŠþ BïœçÜ$ ¯@þ$…yìþ Ð@þ_ā @þ çÜÆæÿ$Mæü$ 35,000 

   òßýyŠþ BïœçÜ$ ^ðþÍÏ…_¯@þ QÆæÿ$aË$ 9,000      

SECTION – C 

      Answer any Three of the following (3 × 14 = 42)                                  

Q13) On 1-01-2012 Kesineni bought a machine on Hire Purchase from 

B.H.P.V. Company. The terms of the contract were as follows: 

a) The cash price of the machine was Rs. 2,80,000. 

b) Paid on signing the contract Rs. 80,000. 

c) The balance shall be paid in Four annual instalments of Rs. 50,000 

each plus interest. 

d) Interest at 5% per annum on outstanding balance. 

e) Depreciation at 10% per annum is to be written off on the straight line 

method. 

Prepare necessary accounts in the books of Kesineni. 



   

  

   

 

 MóüÕ¯óþ° ÐéÆæÿ$ 1&01&2012 ™óþ©¯@þ A§ðþª Mö¯@þ$VøË$ ç³§æþ®†Oò³ JMæü Ä¶ý$…{™é°² B.H.P.V. 

Mæü…ò³± ¯@þ$…yìþ Mö¯@þ$VøË$ ^óþÔ>Ææÿ$. Jç³µ…§æþç³# °º…«§æþ¯@þË$ “Mìü…¨ Ñ«§æþ…V> MæüËÐ@þ#. 

a) Ä¶ý$…{™èþÐ@þ¬ Äñý¬MæüP ¯@þVæü§æþ$ «§æþÆæÿ Ææÿ*. 2,80,000. 

b) A“WÐðþ$…r$Oò³ çÜ…™èþMæü… ^óþíÜ¯@þç³šyæþ$ ^ðþÍÏ…ç³# 80,000. 

c) ¯éË$Væü$ ÐéÆÿ¬§éËÌZ 50,000 ç³Ï‹Ü Ð@þyîþz ^ðþÍÏ…^èþÐ@þÌñý¯@þ$. 

d) Ð@þyîþz 5% ^öç³š¯@þ Rê™é E¯@þ² Ððþ¬™èþ¢…Oò³ ÌñýMæüP MæürtÐ@þËíÜ E¯@þ²̈ . 

e) íÜ¦ÆæÿÐéÆÿ¬§éË$ ç³§æþ®†ÌZ çÜ…Ð@þ™èþÞÆ>°Mìü 10% ^öç³š¯@þ ™èþÆæÿ$Væü$§æþË Væü×ìý…^èþÐ@þÌñý¯@þ$. 

MóüÕ¯óþ° ÐéÇ ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

 

Q14)Prepare Income and Expenditure a/c and the balance sheets from the fol-

lowing receipts and payments a/c for the year ending 31-12-2015. 

 Dr.     Cr. 

  Receipts Rs.           Payments Rs. 

  1-01-2015            31-12-2015 

 To Bank a/c 15,300 By Salaries 11,000 

  31-12-2015  ” Stationery 2,700 

 To Subscriptions 12,500 ” Repairs 3,200 

 ” Donations 7,900 ” Office expenses 4,100 

 ” Lockers rent 3,800 ” Machinery 14,000 

 ” Sale of old furniture 6,200 ” Investments 8,000 

 ” Legacies 10,000 By Balance c/d 17,000 

 ” Entrance fees 4,300 

   60,000   60,000 

 Adjustments:- 

a) Subscriptions outstanding for 2015 Rs. 1,500 and received in advance 

Rs. 800. 

b) Outstanding salaries Rs. 3,000. 

c) Depreciation on Machinery was Rs. 1,000. 

d) Interest due on investments was Rs. 500. 



   

  

   

¨Væü$Ð@þ Æÿ¬_ā @þ Ð@þçÜ*â¶ý$å ^ðþÍÏ…ç³#Ë$ Rê™é 31&12&2015 ¯@þ$…yìþ B§éÄ¶ý$ Ð@þÅÄ¶ý*Ë Rê™é 

Ð@þ$ÇÄ¶ý¬ BíÜ¢&Aç³šË ç³sîýtË$ ™èþÄ¶ý*Ææÿ$ ó̂þÄ¶ý$…yìþ. 

Dr.      Cr. 

Ð@þçÜ*â¶ý$å  Ææÿ*.         ð̂þÍÏ…ç³#Ë$ Ææÿ*. 

1&01&2015                                                  31&12&2015 

To »êÅ…Mæü$ÌZ °ËÓ 15,300 By i™éË$ 11,000 

31&12&2015   ”   õÜtçÙ¯@þÈ 2,700 

To ^èþ…§éË$  12,500 ”   Ð@þ$ÆæÿÐ@þ$Ã™èþ$¢Ë$ 3,200 

”  ÑÆ>âêË$  7,900 ”   BïœçÜ$ QÆæÿ$aË$ 4,100 

”  ÌêMæüÆŠÿÞ A§ðþª  3,800 ”   Ä¶ý$…{™éË$ 14,000 

”  ´ë™èþçœÈ²̂ èþÆæÿ$ AÐ@þ$ÃMæü… 6,200 ”   ò³r$tºyæþ$Ë$ 8,000 

”  ÐéÆæÿçÜ™éÓË$  10,000 ”   ™óþÍā @þ °ËÓ 17,000 

”  {ç³ÐóþÔ¶ý Ææÿ$çÜ$Ð@þ¬ 4,300  

   60,000  60,000 

çÜÆæÿ$ª»êr$Ï: 

a) 2015 çÜ…Ð@þ™èþÞÆ>°Mìü Æÿ¬…M> Æ>Ð@þËíÜ @̄þ ^èþ…§éË$ Ææÿ*. 1,500 Ð@þ$ÇÄ¶ý¬ Ð@þ¬…§æþ$V> 

Ð@þçÜ*OÌñý¯@þ ^èþ…§éË$ MæüËíÜ E¯@þ²Ñ Ææÿ*. 800. 

b) ^ðþÍÏ…^èþÐ@þËíÜ¯@þ i™éË$ Ææÿ*. 3,000. 

c) Ä¶ý$…{™èþ…Oò³ ™èþÆæÿ$Væü$§æþË Ææÿ*. 1,000 MæüË§æþ$. 



   

  

   

d) ò³r$tºyæþ$ËOò³ Æ>Ð@þËíÜ¯@þ Ð@þyîþz Ææÿ*. 500 MæüË§æþ$. 

Q15)Ram and Krishna are partners in a business sharing profit and losses in the 

ratio of 2:1. Their Balance sheet was as follows. 

  Liabilities Rs. Assets Rs. 

 Bills payable 60,000 Bank 50,000 

 General Reserve 30,000 Sundry Debtors 25,000 

 Ram Capital 1,00,000 Closing Stock 32,000 

 Krishna Capital 70,000 Machinery 24,000 

      Bills receivable 29,000 

     2,60,000   2,60,000 

 They agreed to admit Laxman into the partnership firm, subject to the fol-

lowing terms. 

a) Laxman has to pay as capital Rs. 60,000 for 
�

�
 rd share in future profits. 

b) Laxman has to pay Rs. 18,000 for goodwill. 

c) Depreciate Machinery at 10%. 

d) Closing stock revalued at Rs. 38,000. 
Prepare necessary accounts after Laxman’s admission. 

 

Æ>ÐŒþ$ Ð@þ$ÇÄ¶ý¬ Mæü–çÙ~ JMæü ¿êVæüÝëÓÐ@þ$Å…ÌZ 2:1 °çÙµ†¢ÌZ Ìê¿¶ý ¯@þÚëtË$ ç³…^èþ$Mö¯óþ 
¿êVæüçÜ$¢Ë$. ÐéÇ BíÜ¢ Aç³šË ç³sîýt “Mìü…¨ Ñ«§æþ…V> MæüË§æþ$. 

 Aç³šË$  Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

^ðþÍÏ…ç³# çßý$…yîþË$ 60,000 »êÅ…Mæü$ 50,000 

Ýë«§éÆæÿ×ý °«̈  30,000 º¬×ý“VæüçÜ$¢Ë$ 25,000 

Æ>ÐŒþ$ Ð@þÊË«§æþ¯@þ… 1,00,000 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ 32,000 

Mæü–çÙ~ Ð@þÊË«§æþ¯@þ… 70,000 Ä¶ý$…{™éË$ 24,000 

     Ð@þçÜ*Ë$ çßý$…yîþË$ 29,000 

    2,60,000   2,60,000 

ÐéÆæÿ$ “Mìü…¨ çÙÆæÿ™èþ$ËMæü$ ÌZºyìþ ËMæü‡×Šý @̄þ$ “Mö™èþ¢ ¿êVæüçÜ$¢°V> ó̂þÆæÿ$aMø§æþË^ðþ¯@þ$. 



   

  

   

a) ËMæü‡×Šý �

�
	Ð@þ Ð@þ…™èþ$ Ìê¿¶ý, ¯@þÚëtË ÐésêMæü$ Ææÿ*. 60,000 Ð@þÊË«§æþ¯@þ… MøçÜ… 

çÜÐ@þ$Mæü*ÆæÿaÐ@þÌñý¯@þ$. 

b) Væü$yŠþÑÌŒý MøçÜ… ËMæü‡×Šý Ææÿ*. 18,000 çÜÐ@þ$Mæü*ÆæÿaÐ@þÌñý¯@þ$. 

c) Ä¶ý$…{™èþ…Oò³ 10% ™èþÆæÿ$Væü$§æþË MæüË§æþ$. 

d) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ ç³#¯@þÆæÿ*ÃÌêÅ…Mæü¯@þ ÑË$Ð@þ Ææÿ*. 38,000 Ë$V> °Ææÿ~Æÿ¬…^éÆæÿ$. 

AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË$ ËMæü‡×Šý {ç³ÐóþÔ¶ý… ™èþÆæÿ$Ðé™èþ HÑ«§æþ…V> E…sêÄñý* è̂þ*ç³…yìþ. 

 

Q16)X, Y and Z are partners sharing profit and loss equally. Their balance sheet 

as follows: 

 Liabilities Rs. Assets Rs. 

 Creditors  70,000 Bank 1,20,000 

 Reserves  60,000 Debtors 80,000 

 X Capital  2,00,000 Machinery 1,50,000 

 Y Capital  1,50,000 Closing stock 70,000 

 Z Capital  1,00,000 Investments 1,60,000 

    5,80,000  5,80,000 

 Mr. Z decided to retire from the business on the following conditions: 

a) Goodwill of the firm valued at Rs. 45,000. 

b) Depreciate machinery at 10%. 

c) Closing stock revalued at Rs. 85,000. 



   

  

   

d) Bad debts on debtors Rs. 3,000 

Prepare necessary accounts and new balance sheet.  

JMæü ¿êVæüÝëÓÐ@þ$Å…ÌZ X, Y Ð@þ$ÇÄ¶ý¬ Z A¯óþ ¿êVæüçÜ$¢Ë$ çÜÐ@þ*¯@þ…V> Ìê¿¶ý @̄þÚëtË$ 
ç³…^èþ$Mö…sêÆæÿ$. ÐéÇ BíÜ¢ Aç³šË ç³sîýt D “Mìü…¨ Ñ«§æþ…V> E¯@þ²̈ . 

 Aç³šË$ Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 

º¬×ý§é™èþË$ 70,000 »êÅ…Mæü$ 1,20,000 

ÇfÆæÿ$ÓË$  60,000 º¬×ý“VæüçÜ$¢Ë$ 80,000 

X Ð@þÊË«§æþ¯@þ… 2,00,000 Ä¶ý$…{™éË$ 1,50,000 

Y Ð@þÊË«§æþ¯@þ… 1,50,000 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$  70,000 

Z Ð@þÊË«§æþ¯@þ… 1,00,000 ò³r$tºyæþ$Ë$ 1,60,000 

   5,80,000  5,80,000 

 ÐéÅ´ëÆæÿ… @̄þ$…yìþ Z ÑÆæÿÑ$… è̂þ$Mø§æþË^ðþ¯@þ$. “Mìü…¨ °º…«§æþ¯@þË$ ´ësìý… è̂þÐ@þÌñý¯@þ$. 

a) çÜ…çÜ¦ Væü$yŠþÑÌŒý Ææÿ*. 45,000 Ë$V> ÑË$Ð@þ MæüsêtÆæÿ$. 
b) Ä¶ý$…{™èþÐ@þ¬Oò³ 10%›™èþÆæÿ$Væü$§æþË MæüË§æþ$. 
c) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ ç³#¯@þÆæÿ*ÃÌêÅ…Mæü¯@þ ÑË$Ð@þ Ææÿ*. 85,000 Ë$V> °Ææÿ~Æÿ¬…^éÆæÿ$. 
d) º¬×ý“VæüçÜ$¢ËOò³ Æ>° »êMîüË$ Ææÿ*. 3,000. 

AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË$ Ð@þ$ÇÄ¶ý¬ “Mö™èþ¢ BíÜ¢&Aç³šË ç³sîýt ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

 

Q17)Birla Company Limited issued 10,000 equity shares of Rs. 100 each, pay-
able Rs. 20 on application, Rs. 40 on allotment, Rs. 30 on first call and Rs. 
10 on final call. All the shares were subscribed and the amount duly re-
ceived. Pass necessary Journal entries in the books of the company.  

  

 ¼Æ>Ï Mæü…ò³± 10,000 DMìüÓsîý ÐésêË$ Ðésê JMìüP…sìýMìü Ææÿ*. 100 ^öç³š¯@þ gêÈ ó̂þòÜ¯@þ$. 
^ðþÍÏ…ç³#Ë$ “Mìü…¨ Ñ«§æþ…V> MæüËÐ@þ#. 

   «§æþÆæÿRêçÜ$¢Oò³ ^ðþÍÏ…ç³# Ææÿ*.20 
   MóüsêÆÿ¬…ç³#Oò³ 40 
   Ððþ¬§æþsìý í³Ë$ç³# 30 



   

  

   

   Æðÿ…yæþÐ@þ, ™èþ$¨ í³Ë$ç³#Oò³ 10 
 ÐésêË$ A°² ^èþ…§é AÆÿ¬¯@þÑ, ç³NÇ¢V> ð̂þÍÏ…ç³#Ë$ fÇW¯@þÑ. Mæü…ò³± ç³#çÜ¢M>ËÌZ 

AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 
  

   
Q18)Laxmi Steels Company issued 20,000 equity shares of Rs. 200 each at a 

premium of Rs. 50 per share, payable Rs. 40 on application, Rs. 120 on al-

lotment (including premium) and Rs. 60 on First call and the balance on 

final call. All the shares were subscribed and the money was duly received. 

Pass necessary Journal entries in the books of Laxmi Steels Company. 

 

ËMîü‡ ïÜtÌŒýÞ Mæü…ò³± 20,000 DMìüÓsîý ÐésêË$ Ðésê JMìüP…sìýMìü Ææÿ*. 200 Ð@þ¬{̈ ™èþ 

Ð@þÊËÅÐ@þ¬VæüËÑ Ææÿ*. 50 {ï³Ñ$Ä¶ý$…™ø gêÈ ^óþòÜ¯@þ$. ð̂þÍÏ…ç³#Ë$ “Mìü…¨ Ñ«§æþ…V> MæüËÐ@þ#. 

 «§æþÆæÿRêçÜ$¢Oò³ Ææÿ*. 40 

 MóüsêÆÿ¬…ç³#Oò³        120 ({ï³Ñ$Ä¶ý$… Ææÿ*. 50 MæüË$ç³#Mö°) 

 Ððþ¬§æþsìý í³Ë$ç³#         60 

 Ñ$WÍ¯@þ¨ Æðÿ…yæþÐ@þ, ™èþ$¨ í³Ë$ç³#Oò³ ^ðþÍÏ…ç³# fÇVðü¯@þ$. 

ÐésêË±² ^èþ…§é AÆÿ¬ @̄þÑ. ç³NÇ¢V> ¯@þVæü§æþ$ Ð@þçÜ*OÌñý @̄þ¨. ËMîü‡  ïÜtÌŒýÞ ç³#çÜ¢M>ËÌZ 

AÐ@þçÜÆæÿOÐðþ$¯@þ _sêt ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ.  

� � � 
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SECTION – A 

          Answer any Four of the following (4 × 5 = 20) 

“Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$Væü$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

 

  

Q1) Significance of Index numbers. 
 çÜ*` çÜ…QÅË {́ ëÐ@þ¬QÅ™èþ. 
 

Q2)  Components of Time Series. 
 M>Ë“Ôóý×ý$Ë Ð@þÊËM>Ë$. 
 

Q3)  Limitations of Index numbers. 
 çÜ*` çÜ…QÅË ç³ÇÑ$™èþ$Ë$. 
 

Q4) Cyclical Variations. 
 ^èþ“MîüÄ¶ý$ Ð@þ*Ææÿ$µË$. 
 
Q5) Types of Events. 
 ÑÑ«§æþ ÆæÿM>Ë DÐðþ…sŒýÞ (çÜ…§æþÆæÿÂ…). 
 
Q6) Addition theorem of probability. 
 çÜ…¿êÐ@þÅ™èþ çÜ…MæüË¯@þ íÜ§é®…™èþÐ@þ¬. 
 
Q7) Features of Binomial distribution. 
 Binomial distribution  Ë„æü×êË$. 
 
Q8) Formulation procedure of Linear Programming. 
 L.P.P. ° Ææÿ*´÷…¨…^èþ$ ç³§æþ®†. 
 



   

  

   

SECTION – B 

          Answer any Two of the following (2 × 15 = 30) 
“M ìü…¨ ÐésìýÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

Q9) From the following data construct Fisher’s ideal index number and show that it 
satisfies the  
a) Time reversal test and 
b) Factor reversal Test. 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ íœçÙÆŠÿ B§æþÆæÿØ çÜ*` çÜ…QÅ¯@þ$ °ÇÃ…_ A¨ M>Ëç³ÈÐ@þÆæÿ¢̄ @þ 
Ð@þ$ÇÄ¶ý¬ M>ÆæÿM>Ë ç³ÇÐ@þÆæÿ¢̄ @þ ç³È„æüMæü$ °Ë$çÜ$¢…§æþ° Ææÿ$kÐ@þ# ó̂þÄ¶ý$…yìþ. 

  Items                  Base year                        Current year 
  Ð@þçÜ$¢Ð@þ#Ë$            B«§éÆæÿ çÜ…Ð@þ™èþÞÆæÿ…                       Ð@þÆæÿ¢Ð@þ*¯@þ çÜ…Ð@þ™èþÞÆæÿ…    

   Price Expenditure Price Expenditure 
   «§æþÆæÿ Ð@þÅÄ¶ý$… «§æþÆæÿ Ð@þÅÄ¶ý$… 
  P 6 300 10 560 
  Q 2 200 2 240 
  R 4 240 6 360 
  S 10 300 12 288 
  T 3 120 8 240 

 

Q10)Fit a binomial distribution for which the mean is 6, and the variance is 4. 
 çÜVæür$ ÑË$Ð@þ 6 Ð@þ$ÇÄ¶ý¬ Ñ^èþÆæÿ×ý ÑË$Ð@þ 4 AÆÿ¬¯@þ §é° Äñý¬MæüP ¨Óç³§æþ ÑçÜ¢ –†° 

™ðþËç³…yìþ.      

Q11)Find 
��

��
 if � = 	

�	
��
�

��	�
 

 � = 	
�	
��
�

��	�
  Mæü$ ��

��
	¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬.  

Q12)Using the Simplex method solve the following L.P.P.  
  Minimize Z = X1 + X2 

  Subject to x1 + x2 > 3 
    2x1 + 3x2 < 18 
    x1  < 6; x1 x2 > 0. 
 çÜ*Mæü‡ Ñ«§é¯é°² Eç³Äñý*WçÜ*¢ D “Mìü…¨ L.P.P.  ° ç³ÇçÙPÇ…^èþ$Ð@þ¬.  
  Mæü°ïÙtMæüÇ…^èþ$Ð@þ¬  Z = X1 + X2 

  Subject to  x1 + x2 > 3 
     2x1 + 3x2 < 18 
     x1 < 6; x1 x2 > 0.    
      

SECTION – C 

      Answer any Two of the following (2 × 10 = 20) 

D “Mìü…¨ ÐésìýÌZ H Ð@þÊyæþ$ {ç³Ô¶ý²ËOMðü¯é çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 



   

  

   

                                   
Q13) Fit a straight line trend by the least square to the following data: 
 ¨Væü$Ð@þ °_ā @þ §æþ™é¢…Ô>°Mìü V>¯@þ$ Mæü°çÙt Ð@þÆ>YË ç³§æþ®†ÌZ çÜÆæÿâ¶ý ÆóÿRê {ç³Ð@þ–†¢° 

çÜ…«§é°…^èþ$Ð@þ¬. 

  Year 2007 2008 2009 2010 2011 2012 
  çÜ…Ð@þ™èþÞÆæÿÐ@þ¬ 

  Sales  

  AÐ@þ$ÃM>Ë$ 7 10 12 14 17 24 

  (� in ‘000) 

 

Q14)From the following data calculate the cost of living index number. 
¨Væü$Ð@þ °_ā @þ §æþ™é¢…Ô¶ýÐ@þ¬¯@þMæü$ iÐ@þ¯@þ Ð@þÅÄ¶ý$ çÜ*` çÜ…QÅ¯@þ$ ÌñýMìüP… è̂þ…yìþ 

  Items: Food Fuel Clothing Housing Misc. 
  Ð@þçÜ$¢Ð@þ#Ë$ 

  Indices:  

  çÜ*`Ë$ 400 200 250 150 300 

  Weights:  

  ¿êÇ™éË$ 5 3 4 1 2 

Q15)A bag contains 5 green and 7 red balls. Two balls are drawn, what is the 

probability that one of them is green and the other red? 
 JMæü »êÅVæü$ÌZ 5 BMæü$ç³^èþa Ææÿ…Væü$ Ð@þ$ÇÄ¶ý¬ 7 GÆæÿ$ç³# Ææÿ…Væü$ º…™èþ$Ë$ E¯@þ²Ñ. ÐésìýÌZ 

¯@þ$…_ Æðÿ…yæþ$ º…™èþ$Ë¯@þ$ ¡íÜ¯@þç³šyæþ$ JMæüsìý ç³^èþa° º…† Ð@þ$ÇÄ¶ý¬ C…MöMæüsìý GÆæÿ$ç³# 
Ææÿ…Væü$ º…† AÐ@þÓyé°Mìü V>¯@þ$ VæüË çÜ…¿êÐ@þÅ™èþ¯@þ$ ÌñýMìüP…^èþ…yìþ. 

 

Q16)Evaluate the following 

 �
��	�

��		��	�
	dx 

 ÑÔóýÏíÙ…^èþ…yìþ � ��	�

��		��	�
	dx 

. 
 

Q17)Find the maxima and minima of the following function 
   � = 15�� −	25��	 + 	15.  
 ¨Væü$Ð@þ °_ā @þ çœ…„æü¯ŒþMæü$ VæüÇçÙt Ð@þ$ÇÄ¶ý¬ Mæü°çÙt ÑË$Ð@þË¯@þ$ Mæü¯@þ$Vö @̄þ…yìþ. 



   

  

   

   � = 15�� −	25��	 + 	15. 
 

Q18)Solve the following L.P.P. by graphic method 
  Maximize P = 5X1 + 3X2 
  Subject to 3x1 + 5x2 = 15 
    5x1 + 2x2 = 10 
  and x1, x2 > 0.  
 

“Mìü…¨ L.P.P.  ° “V>íœMŠü ç³§æþ®† §éÓÆ> Ýë«̈ …^èþ…yìþ. 
  VæüÇçÙtMæüÇ…ç³#Ð@þ¬ P = 5X1 + 3X2 

  Subject to 3x1 + 5x2 = 15 
    5x1 + 2x2 = 10 
  Ð@þ$ÇÄ¶ý¬  x1, x2 > 0.  

 
 

 

� � � 
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SECTION-A 

              Answer Any Four questions          (4 x 3 = 12) 

D “Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$Væü$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é @̄þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬                                    

Q1) Write about keyboard. 
 Mîü»ZÆæÿ$z Væü$Ç…_ ÑÐ@þÇ… è̂þ…yìþ. 
 

Q2) Define Hardware and software. 
 àÆŠÿzÐóþÆŠÿ¯@þ$ Ð@þ$ÇÄ¶ý¬ Ýë‹œtÐóþÆŠÿ¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 

Q3) What is the use of CD-ROM? 
 CD-ROM Äñý¬MæüP Eç³Äñý*Væü… HÑ$sìý? 
 

Q4) Explain wild cards. 
 OÐðþÌŒýz M>ÆŠÿz̄ @þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 

Q5) Write any four commands from opening menu. 
 Kò³°…VŠü Ððþ$¯@þ*ÌZ E¯@þ² ¯éË$Væü$ MæüÐ@þ*…yŠþÞ̄ @þ$ {ÐéÄ¶ý$…yìþ. 
 

Q6) What is Testing process? 
sñý‹Üt…VŠü {́ ëòÜ‹Ü A @̄þV> HÑ$? 

 

Q7) What are relational operators in BASIC?  
 ÇÌôýçÙ¯@þÌŒý Bç³ÆóÿrÆŠÿÞ A¯@þV> HÑ$? 
 

Q8) Generate a Report in word processor. 
 Report @̄þ$ Ð@þÆŠÿz {́ ùòÜ‹ÜÌZ E™èþµ†¢ ó̂þÄ¶ý$…yìþ. 

 



   

  

   

 

SECTION-B 

        Answer Any Two questions                    (2 x 8 = 16) 

   D “Mìü…¨ ÐésìýÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

Q9) Explain characteristics of a computer. 
 Mæü…ç³NÅrÆŠÿ Äñý¬MæüP Ë„æü×êË$ ÑÐ@þÇ… è̂þ…yìþ. 
 
Q10)Describe about various output devices. 
 ÑÑ«§æþ AÐ@þ#sŒýç³#sŒý ç³ÇMæüÆ>Ë @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 
Q11) Explain Quick menu. 
 MìüÓMŠü Ððþ$¯@þ*¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 

Q12) Define an algorithm. How is it useful in the software development. 
 AÌŒýVæüÇ£æþÐŒþ$ A¯@þV> HÑ$? Ýë‹œtÐóþÆŠÿ yðþÐðþÌñý‹³Ððþ$…sŒýÌZ Eç³Äñý*V>Ë$ ÑÐ@þÇ… è̂þ…yìþ.  

SECTION-C 

               Answer Any Three questions                       (3 x 14 = 42) 

D “Mìü…¨ ÐésìýÌZ HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯@þÐ@þ¬Ë$ {ÐéÄ¶ý¬Ð@þ¬ 

Q13) Explain the Block diagram of computers. 
 Mæü…ç³NÅrÆŠÿ Äñý¬MæüP »êÏMŠü yæþÄ¶ý*“VæüÐŒþ$¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 
Q14) Explain the generations of computers. 
 Mæü…ç³NÅrÆŠÿ Äñý¬MæüP ™èþÆ>Ë @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 
Q15) Write about secondary memory devices. 
 òÜMæü…yæþÈ Ððþ$Ð@þ$È ç³ÇMæüÆ>Ë Væü$Ç…_ ÑÐ@þÇ… è̂þ…yìþ. 
 
Q16) What is meaning and purpose of DOS and create DOS directory structure? 
 yé‹Ü Äñý¬MæüP AÆæÿ®Ð@þ¬ Ð@þ$ÇÄ¶ý¬ yé‹Ü OyðþÆæÿMæütÈ [çÜtMæüaÆŠÿÞ̄ @þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 
Q17) What are the features of word processing? 
 Ð@þÆŠÿz {́ ùòÜíÜ…VŠü Äñý¬MæüP ïœ è̂þÆŠÿË¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 
 
Q18) Explain Basic branching statements with examples. 
 »ôýíÜMŠü {»ê…_…VŠü õÜtsŒýÐðþ$…sŒýË @̄þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ… è̂þ…yìþ. 


